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tcurtS latsyrC eru gaxeH a( lano 41,5= 8 Å  368,31=c , Å)
orG ecapS up 3R c

neD s yti mc/g 46,4 3

noitisopmoC noC g ur tne  iL %-lom 50,0 2O
 dohteM htworG ZC

tnioP gnitleM 2521 oC
iruC pmeT e erutare 411 ~ 2 oC

endraH ss shoM 5
mrehT a apxe l oisn 01x( n 6- / o )C  11 4.51 :  33 : 5.7

 noitcarfeR fo xednI  682.2=o  a   302.2=e t mn 8.236 
narT ims iss no vaw e nel gth  09.2 ~ 4.0 

ilnoN aen oc r o-ortcelE .tneiciffe p lacit oc tneiciffe d 33 d ,54.43= 13 d= 51 d ,59.5= 22 mp( 70.31= V 1- )
 31 =8 ,6.  22 =3 ,4.  33 ,8.03=  15 ,0.82=  22 Vmp( 00.6= 1- )

narT ps era n yc gnaR arT e n ytivissims 5 ~ 073 n 8.236 @ % 86 >   mn   000 m

noitatneirO
efaW us r ot lamron si ecafr iw sixa-Z eht niht   .’01 

lamron si talF  nihtiw sixa-X eht ot   ’01 noceS( ad  yna fi talf yr isu rof )gn
ziS e

etemaiD r  mm 8,05  ,0 mm 1
cihT enk ss 0001 m  01 m

nerefeR c lF e ta 41   mm 1 
woB el ro ot lauqE eht ss n  02 m

Edge Is nuor ded
cafruS se

inif secafruS hs orriM ilop r shed isiv fo eerF . na skcarc elb tarcs d c eh s


